
Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Kerro kymmenen teholla (puuttuva luku)

8, 002 × ________ = 80.02 5, 034 × ________ = 503.4

4, 058 × ________ = 40.58 9, 077 × ________ = 90.77

4, 211 × ________ = 421.1 8, 469 × ________ = 84.69

6, 793 × ________ = 67.93 6, 774 × ________ = 677.4

7, 139 × ________ = 713.9 3, 599 × ________ = 35.99

4, 876 × ________ = 487.6 7, 245 × ________ = 724.5

5, 662 × ________ = 566.2 5, 77 × ________ = 577

1, 375 × ________ = 137.5 8, 532 × ________ = 85.32

3, 008 × ________ = 30.08 6, 089 × ________ = 608.9

3, 672 × ________ = 36.72 7, 723 × ________ = 77.23
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Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Kerro kymmenen teholla (puuttuva luku)

8, 002 × 10 = 80.02 5, 034 × 100 = 503.4

4, 058 × 10 = 40.58 9, 077 × 10 = 90.77

4, 211 × 100 = 421.1 8, 469 × 10 = 84.69

6, 793 × 10 = 67.93 6, 774 × 100 = 677.4

7, 139 × 100 = 713.9 3, 599 × 10 = 35.99

4, 876 × 100 = 487.6 7, 245 × 100 = 724.5

5, 662 × 100 = 566.2 5, 77 × 100 = 577

1, 375 × 100 = 137.5 8, 532 × 10 = 85.32

3, 008 × 10 = 30.08 6, 089 × 100 = 608.9

3, 672 × 10 = 36.72 7, 723 × 10 = 77.23
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